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PSI/STI/ASO - 2018

"HERTY G ¥,
RIS e 9 (q)’ ustam - 2018

‘TUTHA WIS (A1) FEA1 AieiHarsd Tiefe faem
e =

(a) WeTg AT 1 TR 2016 T g WA @ 4.

Al TR

(b) 3T ASHIAR TEA Tt S T WA T
8,000 forremar=a <d.

(c) miadt Afgan ST el AT T WHEGR
T ST GIR 7 i A1 A 3R IR

IR 3

(1) faam (a), (b), (c) TS 3T7Ra.

(2) faum (b), (c) SR 3=

(3) haes fauM (a) S 3R,

(4) whaes faum (c) s 312,

Consider the following statements about the 'Pradhan

Mantri Matritva (Mahu) Vandana Yojana':

(a) This scheme was launched by the Central
Government on April 1, 2016.

(b) Under the Scheme government would provide ¥
8,000 financial aid to pregnant and lactating mothers.

(c) It also aims at improving the health of pregnant
women and lactating mothers though cash
incentives.

Answer options :

(1) Statements (a), (b), (c) are correct

(2) Statements (b), (c) are correct

(3) Only statement (a) is correct

(4) Only statement (c) is correct

‘e wIufety ™ 331 (The Coalition Years) I Jeaehrat
I THIUT TR ?

(1) o gasit (2) . fagayg

(3) . wmE o (4) Fa frea

Who is the author of the book 'The Coalition Years'?
(1) Pranab Mukherjee  (2) P. Chidambaram

(3) Dr. Manmohan Singh (4) Kapil Sibbal

91

2018 =1 3. W.TA E-20 Fhohe Tagen wargen
foAemamed FeRE Sewe 71 waite Al wREg
FATEAT. TTEAT IV HEH FHAREG hed 7

(1) TSEAH Taeq (2) TF1 3oTeed UoTE
(3) == gm fhy (4) ITRIAT ATEE TISH
Jaydev Unadkat emergd as the most expensive
Indian Player in 2018 IPL auction. He is signed by .

g

(1) Rajasthan Royals (2) Kings XI Punjab
(3) Chennai Super Kings (4) Kolkata Knight Riders

oo ST W ST YRR JShard ShivTTe
JUATA AT ?

(1) <. T 9er (2) . fucfie St

(3) . faams foflamer (4) =f. 3T ®Ha
Who among the following is the recipient of the award
for research on language in the name of Dr. Ashok

Kelkar, given by the government of Maharashtra ?
(1) Dr. Rangnath Pathare (2) Dr. Milind Joshi

(3) Dr. Avinash Biniwale (4) Dr. Ashok Kamat

WA TR Ueie Haterarean fafae gerrrident e

fectean yereRie yaT=idR! Jehen UatE ShivT 3T

d|mm?

(1) womg - wiag defesr=a 39 wifas H:3eh
CERELIV

(2) @@ - VRAT=A] IRET JTEUTAT WEU A
0T Fasiiaq TEavl.

(3) TTohdiEe sfen 2.0 — R wiedren o
e

(4) udien Tt 3 faferer=it giaen - amee amfon
FATA= her AY FraTa.

Following are the different initiatives by Tourism

Ministry, Government of India Which of them is

incorrectly stated ?

(1) PRASAD - free food distribution to visitors at
renowned pilgrimage sites.

(2) HRIDAY - preserve, revitalized India's heritage
cities.

(3) Incredible India 2.0 - to promote tourism in India

(4) e - ticketing at Tourist sites - started at Taj mahal
and Humayun Tomb

AT HIAERIER TTEEE GEteTieht vt faem ae

TR ?

(a) T AET ITASH TP HATTATGRT Shed 1.

(b) IE IS G AT AN Bd - Teh
ot fayeran s (sauea) snfor goa An
ayan g (fashm).

(c) T IFAETST UThiA /eIt S=hl U ATE.
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(d) ICHEAT AT IFAE YWY A hivdiEl ™ Match the following :
g/ e TrerET ¥ AT, Village City Project
Pawani Tahsil (i) Nagzira Tiger Project
i W : (a)
R (b) Chichpalli (i1) Gosikhurd
(1) (a), (b), (c), (d) (2) (a), (b)(c) (¢ Navegaon (iii) Mazi Metro
(3) (b),(c) (4) (a), (b) (d) Nagpur (iv) Bamboo Research and
» Which of the following statements about Kailash Training Centre
Mansarovar Yatra are true ? Answer options :
(a) It has been organised by Ministry of External Affairs. @ ® (@© (@
(b) It has been organised through two different routes 1 G Gv) G (iii)
Lipulekh Pass (Uttarakhand) and Nathula Pass Q) () (Gv) @i @)
(Sikkim). 3) () @Gv) @G (i)
(c) Foreign Nationals are not eligible to apply for this @ () () (i) (iv)
yatra & T 3 2
(d) Ministry of External affairs does not provide any 10. 2 T A .- ¢ Eﬁlﬁf -
subsidy/financial assistance to Yatris. @) = © Sk
Answer options : EF{'lﬁ
(1) (@), (b), (c), (d) (2) (@), (b),(c) (b) Hfe = FTeoe 38, 39, 39-A U 42
3) (b () ) (a),(b) HE AMd sholell G deal STHATA JTTOT00
7. oTli-5 ToTEd QYU AeTAUT AT et ST ? () T fagmew 9 wufie sy geemdia
(1) 5,000-5,500 f.#.(2) 3,500 fep.1fi. Afgerre FHergusht =
(3) 7,500 f.1. (4) 10,000 5.1, (d) =Hierdeh .
» What is the range of Agni - 5 ballistic missile ? it S
(1) 5,000 - 5,500 km (2) 3,500 km (1) &% (a) (2) (a) 3T (b)
(3) 7,500 km (4) 10,000 km (3) (b) 3A7fOT (©) (4) ®® (d)
8. '‘#MeToo' % 'Fﬁ'?ﬁf ﬁ\%znaﬁa FfEm HIMIN aaf%m » The main function of Maharashtra State
R ? Commission for women is ...............
(1) I e 75’@ (@) To evaluate the progress of the women
f ) f . empowerment in the state
(2) , STTCHE 3% ’ (b) To implement the Directive Principles of the
(3) et fagtaraliar safhmd afed ﬂ'{%% H:% Constitution mentioned in the article 38, 39,39 A
(4) wagR FARREM. and 42
» '#MeToo' campaign on social media is related with (c) To conduct the elections of the women for the
............ state legislative assembly as well as local self
(1) Sexual harassment and assault Government
(2) Depression, suicide like psychological issues (d) None of the above
(3) Privacy issues at social media Answer options :
(4) Voter campaign (1) Only (a) (2) (a)and (b)
0. Em e (3) (©and(© (4) Only (d)
E R TRy 11.  3EH agad! il TR oiers: fomm Sefeumd ufget
(a) U ATEHE (i) AR ST Yehed URAE Ao FUaT HH Jehatd (Hestaetl. et
(b) Teremg Gi) e TSI TV e o sefet ?
(©) T&aTE (i) T B (1) fr - 21 s (2) T - 27 S
(d) AT (iv) e EMeT 9 ufRreor g (3) g@r (4) g - 57
T T » Avani Chaturvedi has become the first Indian woman
() (b) © (@ to fly a.ﬁghter jf&t solo. Which air?raft did.she fly ?
Iy Gy v ) (iii) (1) Mig- '21 Bison (2) Mig - 27 Bison
@ G Gv) G ) (3) Sukhoi (4) Su-57
G) () Gv) (D) (i) 12. ofgooEeia Sufide &8 arien  wifds
@ @O G @) (@Gv) A STV TALEH T IUCTY Hed JUATAIS! Thg
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I SHIUTA T T hedl 3118 ?

(1) <iFearet F=sft e (2) T s=nsft e
(3) wamE gt AT (4) e FEAE A
Which Yojana has been launched by central
government for providing Physical Aids and
Assisted - living Devices to Senior Citizens belonging
to below poverty line category ?

(1) Deen Dayal Vayoshri Yojana

(2) Rashtriya Vayoshri Yojana

3)
“)

Pradhanmantri Vayoshri Yojana
Atal Vayoshri Yojana

13.

F ded AoA A WISl AN HEE @
T Haiiees SiHd Ietea aemesd ufgean 15
HEA 3. HAZAR HIUTCHT IR ShHTh IR ?

(1) e (2) 2R

(3) TheE®e (4) wImET

According to a report by 'New world wealth’,
Mumbai is among the Lop 15 richest cities in the
world Which city follows Mumbai in this report ?
(1) Chicago (2) Toranto

(3) Frankfurt (4) Shanghai

14.

HUE TSI TR B snfon T areterren
THEATUTTERAT TSATHED oh. €. 3R, Tohe AT g6 hett
R ?

(1) e (2) ¥

(3) @i (4) ImE™

Which state has launched KCR Kit Scheme for the
welfare of pregnant women and new born babies in
the states ?
(1) Telangana (2) Kerala

(3) Haryana (4) Assam

15.

Foheara em utaeiean AFEnfieR SRt SRt
STERTR N <hIUTeAT ST ANTG 2iedl ?

(1) wra (2) OTfeREa™

(3) arBEA (4) ST
Human Rights activist, Asma Jehangir recently
Passed away, she was a citizen of ............

(1) India (2) Pakistan

(3) Bangladesh (4) Afghanistan

16.

93

Rty Rieg ufteg @ v @fted sifafem 1961
TAR WA TRT S e
(a) TSeer uitwg sraia
fafay ot 9 @@
TefereRT
CIPEISIEERL G

T Gt quTadt
IU-\TIA AT SARIHR
T H

(i) o™ - 95
(b) (ii) e - 78

(©) (iii) she™ -97

(d) R e (iv) %M - 76
I AfHR T H
i S
A ® ©O© M
1 Gvy @©  G) (i)
@ Gy (@)  Gv) @)
3 ®  Gv) (@) (i)
@ (@) @@ G 1)
- According to Maharashtra Zilla Parishad and
Panchayat Samiti Act, 1961.
Match the following pairs :
(a) Various Committees and (i) Aurticle - 95
Structure in Zilla Parishad
(b) Appointment of Block (i) Article - 78
Development Officer
(c) Powers and Functions of (iii) Article - 97
Panchayat Samiti President
and Vice President
(d) Powers and Functions of (iv) Article - 76
Chief Executive Officers
Answer options :
A ® ©O© M
1 Gvy @©  G) (i)
@ Gy (@)  Gv) @)
3 ®  Gv) (@) (i)
@ (@) @G @ (1)
17. Eeicideh! wior fowa wued gt gaae e agd ?
(a) <
(b) Teamg anfor Tewwie, goe
(c) oS ST HIY ST =T HIehT= EATIHT
(d) THIETR e
Tt S
(1) (@ (2) (a) 30T (c)
(3) (2, (b) 3T (&) (4) T T
- Which of the following subjects are included in the
concurrent list ?
(a) Electricity
(b) Marriage and Divorce, adoption
(c) Weights and measures and establishment of its
standards
(d) Trade Union
Answer options :
1) (a (2) (a)and (c)
(3) (a),b)and (d) (4) All of above
18. YdicTueht smEma faem wnen :
(a) HARTEERTTE TR ST & ATl e 3T
(b) BT TN & WIATRT HrH hLdl.

g

BT 3TN ST ARTTEETIA IS Sxhi<al dshiime
WY T HISIUEEEE RN <vATTEe qaH
HIOITT A AT

(c)
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(d) T AT TATOHT 1990 FTeft Fieft.

gl 3

(1) (a), (b),¢) (2) (b),(d)

(3) (o), (@ (4) (b), (0)

Find out the incorrect statement? :

(a) National Commission for Backward Classes is
statutory body.

(b) It works under Home Ministry,

(c) NCBC is not yet been empowered to look into the
grievances of persons of other Backward classes.

(d) It was established in year 1990.

Answer options :

(1) (a), (b), c) 2 (). (d

(3) (0), (d) “4) (b), (0

19.

ettt faem feamma = ; (S <=merEn Jeviq)

(a) I AT JeAfed HH AT TR g auge
TG THACH AR HIBEE! TgIdE 3=
=rTeETd ffn e v STfUwR TR,

(b) SeaT e =arEfeneafaics 3= =T
FHrEaEd =mrEefeeA qeqten TS
FAET Al AT e T HE ehd AE Joal
U] I AR IR = w wE
eI

(c) fafed —mmefrer e teEm Y9 =
3El, FAE 65 a4 Pl AeIHR d TG Tg,
kel AL

T TALETaeh! T/t faem /3 iR g /a?

(1) (a) & (2) ()%

(3) (a) 3T (b) (4) (a), (b) 3T (c)

Consider the following statements : (with reference

to High Court)

(a) The President has the power to appoint an
additional judge for a temporary period of not
exceeding two years for the clearance of the
arrears of the work in a high Court.

(b) The President can appoint an acting judge when a
permanent judge of the High Court (other than a
Chief Justice) is temporarily absent or unable to
perform his duties.

(c) Neither an additional nor acting judge can hold
office beyond the age of 65 years.

Which of the statements given above is/are correct ?

(1) (a) Only (2) (c)Only

(3) (a)and (b) (4) (a), (b)and (c)

20.

WTAATh! HITTeAT HRUTRE T9d WINuT F Afeath
TR [T~ 19(1)(a)] ST SEM TTe] Iehdl ?
(a) TS ATAH
(b) ITCUHEITHTE B0

(c) e fimrcam Tey

(d) YRATS @i 9 3rEged
(¢) T 31yan Hifema
Tt S

(1) (a), (b), (), (e) (2) (®). (0) (d)

(3) (@), (0). (d), (e) (4) 9t =&

The state can impose reasonable restrictions on the
freedom of speech and expression [Article - 19 (1)
(a)] on which of the following grounds ?

(a) Contempt of court

(b) Protection of minorities

(c) Friendly relations with foreign states

(d) Sovereignty and integrity of India

(e) Decency or morality

Answer options :

(1) (@), (b), (), (e) (2) (b), (c), (D)

3) (a),(c), (d), (e) (4) All above

21.

TRy fafemeesmETea Eielieueht S faam ghr

AR ?

(1) folmesme yafaa @ fGUes qurERET
AT AT € Bid ATl.

(2) faumaied yeifaa e o faeeres faamess
TS holel F8d o faumae foasy amer swar

T B .

(3) 3 fotww fogmEwd yAd 3@ TR
faamaveRgd o g faamafed Jefaa s/
q ot fagmais faosy g s @ 2.

(4) =hT TRET AT

Which one of the following statements regarding

Maharashtra Legislature is incorrect ?

(1) A bill pending in the Legislative is not lapsed by
reason of prorogation of the houses.

(2) A bill pending in the Legislative council which
has not been passed by the Legislative Assembly
is not lapsed on a dissolution of the Assembly.

(3) A bill pending in the Legislative Assembly or
which, having been passed by the Legislative
Assembly is pending in the council is lapsed on a
dissolution of the Assembly.

(4) None of these

22.

g

Hie WATIEIehR SITH ShUTr=T Q9T SIee el :

(a) Sfictehr (i) 1962
(b) TAET (i) 1994
(c) IAreforn (iii) 1931
(d) <feaor aaftRepT (iv) 1955
T W

@a ® © @
@O @ Gy () ()
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2) @i (@Gv)y @ (i1) (a) The composition and the manner of election of
3) av) @ (i) (i) members of such committees are decided by State
@ O GG Government.

- Match the pairs of Adult Franchise obtained (b) The State Government may make provision about
countries : the representation in such committees of the
(a) Sri Lanka (i) 1962 Central Government, State Government and other
(b) Malaysia (i) 1994 organisations.

(¢) Australia (iii) 1931 Which of the above statements is/are incorrect ?
(d) South Africa (iv) 1955 (1) Only (a) (2) Only (b)
Answer options : (3) Both (4) None of the above
A @B (© D) 25. WGl HUTET T9A SHHfad SETdrETet
I O Gy @G (1) FAFEUTAT AT TS T ?
(i) (?ii) (fV) (1) (11) (1) faer (2) aifem
(€) (?V) (1) (?) (111) (3) aftresrg, (4) I W
S (i) (i) (i) ®  In which of the following states, seats are reserved
23.  UEicTaeh! ST SISt /SiS e for Scheduled Tribes in the Lok Sabha ?
@ 343 I 3#\"4% T (3) Tamil Nadu (4) Uttar Pradesh
(b) 345 - T = onfr I e fadmd 26, ICATISH IO R :
3. 1S STRuATE W, (a) GE0 TS AwE (b)) TEE e
(c) 348 - HUTHUSATE AfUhd WIS/ 3T () ER-Smf W (d) W Fare
97T, qzﬁﬁﬁi .
@ 351 - fd wivem R i (1) @, @06 (2) ), @
a3 (3) (b), (), (a), (d) (4) (b), (a), (), (d)
g Arrange the following in chronological order :
(1) @, ®). @), @ (2) (b)) (a) II" Round Table Conference
(3) (a),(d) (4) (b) (b) Nehru Report
» Find the incorrectly matched pair/s : (¢c) Gandhi - Irwin Pact
Article Provision (d) Communal Award
(a) 343 - Official language of the Union Answer options :
(b) 345 - Langu.age to be used in Suprems? Court (1) (@), (c), (d), (b) @) (), (©), (d), (a)
© s e Hien Courtand for Acts, Bills e 3) )., @. @ @ )@ )M
c - cial language/languages of a state ; ;
(d) 351 - Directive for development of the Hindi 27. 3.‘ W. 1857 <A1 IoTEM EropeRt Tewd g 11'{@‘ |°.
language TEAETAA Yot shivren sl Pt 52
Answer options : eheft gt ?
ONCONORONE) @ b).@© () WS (b) WE (o) TR (d) HieeE
(3) (a),(d) 4 () TR S

24. "R &7 fem aftedt devia @l faom aam (1) (a) 30T (b) BB (2) (b) 3 (c) Beh
= (3) (o) 3T () BF  (4) (@), (c), (d) FT
(a) A gftrcar=h AT 3o Hewrean fad=h uga = 'The Holkars were neutral during the Revolt of

Savam 3R U= g 319al. 1857, yet their soldiers revolted at which of the
(b) A1 WA g WEE, TSI AEA O 3R following places ?

- B Prfereg 2 ’ 5 (a) Bhopal (b) Mahu (c) Indore (d) Mahidasi

:::;m o o L& 8 Answer options :

’ (1) (a)and (b) only (2) (b)and (c) only

TRt <hioTd farerm /= ehrel g ? (3) (c)and (d) only @) (@), (), (d) only
(1) % (a) (2) % (b) 28. 3. W 1920 WEA WRATEN UM g HHY FUE
(3) @ (4) el TR e ot v e

» Consider the following statements regarding the o
Metropolitan Planning Committee : (1) wefem At L (2) & e TR
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(3) fa=d dee (4) |ATE =TS
» In 1920 (a) D was appointed as the first High
Commissioner of India
(1) Edwin Montague (2) Sir William Meyer
(3) Sidney Rowlatt (4) Lord Chelmsford
29. 1873 WA SN HivT [Neaidtel aeh=t
VIdeh=aTell HEEAT TATIA hedl gt ?
(1) Towea (2) gfsfersre
(3) WM (4) gaT
- The farmers from which district of Bengal had
established an organization of Farmers in 1873 ?
(1) Rajmahal (2) Murshidabad
(3) Bhagalpur (4) Pabna
30. “ATRIH Uil g iU HEAM HRAE Hersard e
OIS AT 2 ?
(1) s (2) @gmeg
(3) <hIEHR (4) feme
- Operation Polo was undertaken to merge which of
the following states in Indian Union ?
(1) Junagadh (2) Hydrabad
(3) Kashmir (4) Limdi
31. ydie Fraaeferss ol G& Shelt gt ?
(a) Terameff (b) HUF (c) @TEAT
it S
(1) A= 31 (2) THHE e
(3) fewe mesh (4) =M Teslt
- ‘Who had started the following periodicals ?
(a) Vidyarthi (b) Congress (c) Sadhana
Answer options :
(1) Acharya Atre (2) Ramananda Tirtha
(3) Hirve Guruji (4) Sane Guruji
32. S g :
(a) Tereehay (i) TS TGS HUHBHL
(b) Tl (i) STECE TEEITH |3
(c) T (iii) SHEUTTSIT THTRT TSR
@ fimre (iv) STEH TR Sreft
It S
@ ® ©O© @M
H @) @ G (@Gv)
@ Gi) (v O Gi)
(3) @) @) @ ()
4 @) @  aGv) (1)
» Match the followiig :
(a) Kichakvadh (1) Ganesh Ballal Fansalkar
(b) Swadeshi (i1) Vasudeo Purushottam Sathe

(¢) Vang Bhang (ii1) Krishnaji Prahhakar
Khadilkar

(d) Bhimrao (iv) Laxman Narayan Joshi

Answer options :

Aa ® © @M
(H @ @ G @Gv)
() @iy (Gv) @) (@)
(3) (@) @G @G (Gv)
@ (@) @ (Gv) ()

33. WTAcdeh! ShiUTd T ANl SISl Shote hd JiA1 faet
g ?
(a) WRAH (b) Trferegor
(d) . foe. (c) TerUd, €.
TRl IW
(1) (2) 5 (2) (a) 3T (b) %
(3) (@), (b) 3 () FF (4) (@), (b), (©), (d)
- Which of the following honours were Conferred on
Maharshi Dhondo Keshav Kame ?
(a) Bharat Ratna (b) Padma Vibhushan
(c) D Litt. (d) L.L.D
Answer options :
(1) (a)Only (2) (a)and (b) only
(3) (a), (b)and (c)only (4) (a), (b),(c), (d)
34. RICETYR TSI UNGSE! T ............ 3 1111 SRR
TreA JEE e
(1) HIYERTE ST STIOT TAToIT YR,
(2) et frg o gmiet S,
(3) BUTHT FHerehvll STOT TERTE qRIaTe.
(4) @eUd 9T T THEIET S,
» The Kolhapur Praja Parishad was established by
the efforts of and
(1) Madhavrao Bagal and Ratnappa Kumbhar
(2) Danlodar Bhide and Damodar Joshi
(3) Hanmant Kulkarni and Gangadharrao
Deshpande
(4) Khanderao Bagal and Damodar Joshi
35. HEUTSH THIR TEAH .......... T ST .
(1) = 7. fesh (2) M. . MEA
(3) =1 . meft (4) M. 3. IqE
» Krishnaji Prabhakar Khadilkar became a follower
of ..........
(1) B. G. Tilak (2) G. K. Gokhale
(3) M. K. Gandhi (4) G .H. Deshnukh
36. TowEen W onvt Femd aeAde 91
JEaehTd 3TTaesl.
(1) dgrk SR (2) wqzferRi=T aTefdaTe
(3) 3revicH (4) e foramm
g The discussion between Vishnubuva Brahmachari

g

and the Missionaries is found in the book .............
(1) Vedoktadharma prakash
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(2) 'Samudra Kinaricha Vad Vivad'
(3) Arunoday
(4) Dharma Vivechan

37.

T e Ul eaE AT Sl A T
HIEAT TATG TANT 3R TIRTaeR ot Siord ?

(a) WTHIISTR FHAT/EHEAT

(b) TR W

(c) oHfRUeTar

(d) TFEITEET fashmE 9 e

Il I

(1) (a) 30T () H  (2) (b) ST (d) BT

(3) (a) 3O () BB (4) (a), (b) M (c) BT
Yomeshchandra Banarjee, the first President of
the National Congress stated the objectives for the
establishment of the National Congress, which were
they ?

(a) Social Equality/ Uniformity

(b) National Feeling

(c) Secularism

(d) Development of sense of unity and consolidation

of the same
Answer options :
(1) (a)and (c) only (2) (b) and (d) only
(3) (a)and(d) only (4) (a), (b)and (c) only

38.

FThAE GHW HieiEl TG hiven e
U AT ?

(1) 1773 =0 Tgaifen e

(2) 1784 = fuem 3feam afee

(3) 1793 =1 &4l rIe

(4) 1813 =1 GGt HICl

By which law was the Supreme Court of Calcutta
established ?

(1) 1773's Regulating Act (2) 1784's Pits India Act
(3) 1793's Legislative Act (4) 1813's Legislative Act

39.

WCAETieh! HITT TS SRR 3R ?

(1) s - TTgeRC SeREH ¥ sfea

(2) wE. MU - FESE! SATE gfead el

(3) fa faa - wieerw 3fe uichfead e

forfew 57 sfeam 1885-89

(4) feuema famar - fofew aifoet 59 sfean

Which of the following pairs is correct ?

(1) Bagachi - Private Investment in India

(2) S. Gopal - Emergency of Indian Nationalism

(3) Anil Seal - Problems and Politics of British
in India 1885- 89

(4) Hiralal Sinha - British Policy in India

40.

‘St Sie’ €t gferent wmrof feafgett 2
(1) TSGR TS (2) vEfeer o

(3) TmyETe fafere (4) gfEagy g=ama
Who wrote the Booklet Bandi Jiven ?

(1) Chandrashekhar Azad (2) Rasbihari Bose

(3) Ramprasad Bismil ~ (4) Sachindranath Sanyal

41.

TERIST! UgRUT SfeTeR £ Fehell aMTR ?

(1) 200.60 &G &FX  (2) 207.60 TG FeX
(3) 307.70 @ gFX  (4) 318.60 I THKX
What is total Geographical area of Maharashtra?
(1) 200.60 Lakh hectare (2) 207.60 Lakh hectare
(3) 307.70 Lakh hectare (4) 318.60 Lakh hectare

42.

(1) 513 (2) 213 (3) 102 (4) 302
Because of Kokan Railway the distance between
Mumbai to Kochin is reduced by ............ km.

(1) 513 (2) 213 3) 102 (4 302

43.

WTAICTdh! THITTAL A&t e WA 9T A8 ?

(1) @ (2) Yo (3) Wi (4) Wi
Which of the following river is not a part of Godavari
basin ?

(1) Terna (2) Pravara (3) Manjra (4) Bhatsa

44.

....... TSRTA TSI @ S 3R,

(1) wisan (2) =it

(3) wreHt (4) IhUh! AT

....... is major port of Gujarat State.

((1) Kandla (2) Kochi

(3) Mandvi (4) None of the above

45.

Heledl 312,
(1) 33T Auft (2) <hred vl
(3) Tudes@E @it (4) w=gT wuft

............ is recorded in world heritage site.
(1) Ajanta caves (2) Karle caves
(3) Pitalkhora caves (4) Bedsa caves

46.

WTeAITdeh! ST TSAT dortd fer ST 311 ?
(1) 31y wew (2) wEWY

(3) weA Hew (4) TS
Which of the following states has high tank irrigation ?
(1) Andhra Pradesh (2) Maharashtra

(3) Madhya Pradesh (4) Gujarat

47.

g

Tfa, ured, fig o cgfoe SR @relea
TG hivte Rega sieesard ?
(1) 3mRren (2) getern

(3) 93 (4) 3

Gomit, Pardhi, Bhill these Scheduled tribes are
mainly found in which of the following district ?
(1) Akola (2) Buldhana

(3) Dhule (4) Thane
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HEIE SieitTges T3
(1) 3mUadt 9 FAhlar  (2) Aes o gl

(3) femeht g arfim (4) JadHTS T TATHRT
The dolomite deposits are in
Maharashtra

(1) Amravati and Akola (2) Nanded and Parbhani
(3) Hingoli and Washim (4) Yavatmal and Ratnagiri

............

.......

(1) <IcaT (2) iR
(4) Temfiry

(1) Kolhapur (2) Nashk
(3) Sindhudurg (4) Ratnagiri

48. 2011 TN SUHIER SHHfIA W dREEE 53
TEREM ........ Riegna waifien e,
(1) feres (2) 3faTETE
(3) (4) HeTR -
= As per consus 2011 ........... dstrict has highest
population of schedule cast in Maharashtra
(1) Nasik (2) Aurangabad
(3) Pune (4) Solapur 54.
49. WRATH! Ufelt UeETiNeh ST ...
(1) 1950 - 1955 (2) 1941 - 1946
(3) 1951 - 1956 (4) 1961 - 1966 -
» Indias First Five Year Plan ..........
(1) 1950-1955 (2) 1941 -1946
(3) 1951-1956 (4) 1961 - 1966 55.
50. TERIZTE S AT hivTd ?
(1) Hengt wia (2) GTdYET ged
(3) Tl e (4) IWEE gdq
» What is the main water divider of Maharashtra ?
(1) Sahyadri Mountain  (2) Satpuda Mountain
(3) Nilgiri Mountain (4) Aravali Mountain
51. WERIZWS ufgett STUIWEt ... A 3Bt A
(1) 9=/d (2) g9 (3) uffm (4) sm=@
» The first nuclear reactor in Maharashka is known
;T
(1) Cyrus (2) Dhruva (3) Purninla(4) Apsara
52. SN o -
e AT
(a) HiCE (i) Wt
(b) ST (i) TeRTe
(c) QT (iii) 3WES
(d) FFaHTS (iv) IR
i S
A ® © @M
I (@) G @ )
(2 @Gv) @) @ (@)
) G @  (@Gv) (i)
@ @O @) (aGv) (i) o6
» Match the following : :
District Taluka
(a) Nanded (i) Bhokar
(b) Jalna (ii) Bhokardan »
(c¢) Buldhana (ii1) Umerkhed
(d) Yavatmal (iv) Sangrampur
Answer options :
@ ® ©O© M
I @) G @ ) =7
(2 @Gv) @) @ () '
3 G @O (v (D)
@ @O @) (@Gv) (i)
08 44

S fSegren W wielieodR - hivTeRiuTen

el Srgean sea 2

(a) Ser@, WUl ste, ITTETE

(b) SN, ST, Wy, e, g, e,
SCAIE]

(c) 3TTETG, e, IEHHETE, Woft, f&me,
AT

Tt I

(1) & f99m (a) SR 3R,

(2) % faUM (b) ST 3R,

(3) Wk UM () SIS 3R,

(4) =t = fasmy 5 A,

To which of the following district boundaries are

connected to Jalna district ?

(a) Buldhana, Parbhani, Beed, Aurangabad

(b) Buldhana, Washim, Parbhani, Nanded, Beed,
Aurangabad, Jalgaon

Usmanabad, Parbhani,

(c) Aurangabad, Jalgaon,
Hingoli, Buldhana
Answer options :

(1
()
3)
“)

Only statement (a) is correct
Only statement (b) is correct
Only statement (¢) is correct
All the above statements are wrong

1950-51 @ 2013-14 =1 HTSTA TR TS I
IAUTEATHED TSN A .o Tt ggitert.
(1) e (2) wedt  (3) dedl (4) deea

Since 1950-51 to 2013-14 the share of agriculture
sector in total gross domestic product indicating -

(1) Stable (2) Declining
(3) Increasing (4) Neutral

HERTY ST <hishUT fISRTIen Wiefiel ST Invad

FEATHS TIH 3R,
(a) vt 3TfoT ShefwifsRa ST,
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(b) I T Wi Fu.

3 @Gv) (@) @G @)
@ @ Gv) @) (i)
Match the following :
List-1 List - II
(Fiscal Indicators) (Budget Estimates
(2018-19) as % of
GDP)
(a) Fiscal Deficit 1 121
(b) Revenue Deficit (i) 48.8
(c) Total Outstanding (i) 2.2
Liabilities
(d) Gross Tax Revenue as (iv) 3.3
percentage of GDP
Answer options :
A ® (© O
OH @O @ G (1)
2 (@) @  (Gv) (D)
@) Gv) Gi) () Q)
@ G Gv) @ (i)

(c) dhlUS 3.

(d) TR, heAledTed, e, -
TITUh! ShIvTd faaT aRieR 3118 ?

(1) &% (a) (2) (a) 37T (b)

(3) % (d) (4) () 37T (d)

» Konkan division of Maharashtra has a
sustainable comparative advantage in the following
sectors.

(a) Agriculture and Agro Processing Industries
(b) Forests and Mineral Wealth

(c) Textile Industry

(d) Fisheries, horticulture, tourism

Which of the above statement is/are true ?
(1) Only (a) (2) (a)and (b)

(3) Only (d) (4) (c)and(d)

58. WEWI® WA 2013 chebohl WMl EaTel TRl
AEAIER, T el JHeerel  STei=
STATE e’ FEULT TTUHT Shedl 3R, 60.
(a) IR (b) wifgaT e
(c) HI™ ) fug
WIAITOR T TaTd alier 3.

(1) (@), ®) 3 () (2) FF (a) ST (b)
(3) % (b) 3T ()  (4) B (d)

» According the Government of Maharashtra 2013
Kelkar Committee Report Publication, following
communities from Maharashtra are enumerated as
Primitive Tribal Groups.

(a) Katkaris (b) Madia Gonds

(c) Kolams (d) Bhils -

One of the following alternatives is correct.

(1) (a), (b)and (c) (2) Only (a) and (b)

(3) Only (b) and (c) (4) Only (d)

59. Sl @
et - 1 et - 11
(TR fidweR)  (STETS wehr SEHH
(2018-19) "kt
ST THARTAR)

(a) TSN qE G 12.1

(b) Weget qe (i) 48.8

(c) THIET TR Gi) 2.2
YehaTeh! ¢l

(d) A TGF 3= (iv) 3.3 61.
T h{ HEHT JHTIT

i W :
A ® © @M

O @® G 3> (@Gv)

(2 @) @  Gv) ()

99

TR TeReA 201617 TN ENUhE
HEIIER T ARl Hggettdte, fafae wgga
Haen WgeagER, fafou wege warean @
T ShH WTeAIcTdeh! ShIUTdT 3118 ?

(a) ST IUTEH Iosh, Torshl &L, TR A

(b) IS KT TN ook, TS ITUTEH Iesh, AR
(c) Teshiant, fires amfor Figuft y[esh, U= IcdTEH Yo
(d) Teres 3mfer Fievft Yoo, TST IS Yowh, T A
FeTOeR! STl faem /e SR ega ?

(1) % (b) (2) & (c)

(3) (c) iU (d) (4) & (d)

According to the Maharashtra Government's Budget

Estimate for 2016-17, which of the following is the
correct sequence of the relative shares of revenue

sources as per their importance in the total revenue ?
(@)
(b)

State Excise Duties, Sales Tax, Other Taxes

Tax and Duties on Electricity, State Excise Duties,
Tax on Vehicles

Sales Tax, Stamps and Registration charges, State
Excise Duties

©)
(d) Stamps and Registration charges, State Excise
Duties, Other Taxes

Which of the above statement/s is/are correct ?

(1) only (b) (2) Only (c)

(3) (¢)and (d) (4) Only (d)

FANRACAT FehAUT FHGIATHER §o1 SAWE ..........
(1) TATREEAT 9T aTed.

(2) H-3Te TG ArREE TRR TEd.

(3) irREEaT JTeET e fRr TEal.

(4) TR HIvIaE! ATE.
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According to the theory of demographic transition
in the second stage there is ...............

(1) Rapid growth of population

(2) Population remains more or less stable

(3) Rate of population growth remains stable

(4) None of the above

62.

WSl Ueh YA, HERTE qSEmen TR e
et a9 2015-16 @Tdten A Uk fawren
TR [ ©9 (SuEiE) ot T fearEnet
A AR (feerama) gvifemat.

WeAeTih! U e s{isr o ?

(1) T 262,53 f=® (2) T 242, 60 feam
(3) T 324, 44Tm®  (4) T 370, 50 feam
One of the following alternatives shows : the cost of
generating one day of employment () and average
employment per household (days) respectively for
the year 2015-16 related to the MGNREG Scheme
for the State of Maharashh(a)

Which one of the below statement is correct ?

(1) ¥7262,53 days (2) < 242,60 days

(3) 324, 44 days (4) 370,50 days

63.

g TRHRATE MG WIAedh! vt T
TR TR el (FRL) STHEATA STUTEAT ?
(a) ST, GE  (b) HAlCH, BB

(c) dmHiaTg (d) wfFem s
WIATCAUh! RV I TR AT ?

(1) & (a) (2) (a), (b) 3T (c)

(3) & (b) (4) %6 (d)

Which of the following states adopted Fiscal
Responsibility Legislation even before the Central
Government ?

(a) Uttar Pradesh, Punja (b) Kamataka, Kerala
(c) Tamil Nadu (d) West Bengal

Which of the following answer is correct ?

(1) Only (a) (2) (a), (b)and (c)

(3) Only (b) (4) Only (d)

64.

ST Aate TEmeR (1981 9 2012) SR

(1) 3.5% (2) 59% (3) 5.7% (4) 4.2%
The average GDP growth rate during the later
phases of planning 1981 to 2012 was

(1) 35% (2) 59% (3) 57% 4) 421%

65.

100

‘T YA Scaa’ T Wit Teeh 3T ¢
(1) grEfFesda

(2) forferdar

(3) wfafafeea (emmatean faden 3me)
(4) wheosht g

'Universal Basic Income' has following conlponents:

(1) Universality

(2) Unconditionality

(3) Agency (respect for recipient's choice)
(4) All of the above

66.

2004-05 WS HENHE IUHATAT HHAAKEE
A o uaieRuTmed W IusER deg
ATt SR S ITehdTd Sl ........

(1) gfit @rm feam®

(2) REITE G TSR AT ge

(3) GTEAR IUHAHE WIS FEhe! & B!
(4) 0 Td SURRISHT

According to results of PSE's in 2004-05, PSEs show
much better results in new economic environment
due to.

(1) Grant greater autonomy

(2) Reduction of bureaucratic and political control
(3) Infuse Private Culture in PSE's

(4) All the above measures

67.

VeteETETdiea e faeHTEl Ticfierieh! hioTd
3R ara?

(1) et 3cuTed 91

(2) TR Hefined 916

(3) T T IcqeTdier fareHaT el s

(4) =f@ &

Which of the following are the objectives of economic
planning for the agricultural sector '?

(1) increase agricultural production

(2) Increase employment opportunities

(3) Reduce inequality of incomes in rural area
(4) All the above

68.

g

IS AT
Trei-1
(T AT
(a) T g1 AT

Tt - 11
ERe)
() < WErdd
T TAdtST Srguft
(ii) it ferawor su==
anfefeh TR gumo
(iii) TR T
fergdtepaon
(iv) G&ET ITTAT gl
ot fereprar

(b) U FiSHT

(c) TEFH ISl
AT
(d) I=ua fegspm
ST AT
T W
Aa @B © @M
I @ ) G (@Gv)
() aGi) @ @ @Gv)
(3 (@Gv) i) @) (i)
@ (@Gv) i) G @)
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» Match the following :
List-1 List - I1
(Government (Objective)
Scheme)
(a) Pradhan Mantri (i) to provide LPG
Mudra Yojana connections to BPL
households
(b) Saubhagya Scheme (ii) to enhance financial
health of electricity
distribution companies
(c) Pradhan Mantri (ii1) universal household
Ujjwala Yojana electrification
(d) The Ujjawal Discom (iv) to develop and
Assurance Yojana refinance micro
industrial activities
Answer options :
@ ® © @O
O @ @ G (@Gv)
) @) @) @ @Gv)
(3 @Gv) @) @) ()
@ (v Gi) G @)
69. IO ARTEUR X ....... 2 fehan camaen W IR,
(1) 20.33 (2) 50.33
(3) 40.33 (4) 33.33
= If deprivation score is ............ percent or greater,
that household is multidimensionally poor.
(1) 20.33 (2) 50.33
(3) 40.33 (4) 33.33
70. wifgeR eNToT U 3@ fameR SiRuT ht SEgR S
FE ... R I fFEeon dem.
(1) it &= (2) eI gEEat
(3) T wEgd (4) =lia wd
» The monetary policy refers to a regulatory policy
where the Central bank maintains its control over
L1 1 TS,
(1) Public expenditure  (2) Supply of money
(3) Tax revenue (4) All the above
71. Siadsh SROTEA feRvuTeRdt wevATETdt  amuRedn

101

o= FRMITER Ereierdeh v faem e ang ?

(a) SR T foRor g&T remen TWiat IS
wrafda feror e amfiqa S,

(b) SR M foRw gem iy S sEe ®
wrafdd foRTor q&T STeITel THTat STEdTd.

I gt feet

(1) foum (a) 3mfor (B) =il e 377z,

(2) faam (A) 97 3F (B) 319 32,

(3) faum (A) 39 3T (B) 9 TR,

(4) faum (A) 3 (B) T 3@ 3TRA.

» Which of the following statements is correct
according to the laws of reflections for drawing ray
diagrams of a concave mirror ?

(a) If the incident ray is parallel to the principal axis
then the reflected ray passes through the focus.

(b) Ifthe incident ray is passing through the focus then
the reflected ray is parallel to the principal axis.

Select the correct option :

(1) Statements (A) and (B) both are correct.

(2) Statement (A) is correct and (B) is wrong.

(3) Statement (A) is wrong and (B) is correct.

(4) Statements (A) and (B) both are wrong.

72. SR 0.3 A 3achi fag@am 418 Q QY e AR
AT T hferEndt yanta sheft @ feRdt et
3ot fmtor gger e
(1) 240 (2) 540 (3) 418 (4) 60

g Find the heat generated in calories if a current of
0.3 A is passed through a coil of resistance 418 ( for
one minute.

(1) 240 (2) 540 (3) 418 (4) 60

73.  OFE S ol

(a) . =& ww (i) feoregaeamgR wor
Jeehed Tfd
(b) SISt 3TEH (ii) ferga e
(c) B IAES (iii) wepraTTe farfeRTor
(d) WA B (iv) ferega uftwerdiar Ty
(v) forerd e

i S

@“ ® © @O
) Gi) (v GG
2 i) Gv) (@) (i)
3 @G (v @@ @
@ @) (v)  @Gv) (i)

- Match the following :

(a) C.V.Raman (i) Magnetism due to
electric current
(b) George Ohm (i1) Electric Motor
(c) Hans Oersted (ii1) Scattering of light
(d) Michael Faraday (iv) Resistance in an
electric circuit
(v) Electric current
Answer options :
@ ® ©O© @
(H @G Gv) @ @
@ @) Gv) @ (D)
(3) @) (v) G @)
@ @) (v)  (v) ()

74. FEAETENOT G RGN ........ 3 oW

(1) CH,, (2) CH,

g
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Select correct answer.

Peptide chain termination occurs with which codons ?
(a) UAA,UGA,UGC (b) UAG, CGA, AGC
(c) UGA,UAA,UAG (d) CGA,UAA, UGA
Answer Options :

(1) (a) and (b) (2)  Only (a)

(3) Only (¢) (4) (d)and(c)

WeteTieh! ShivTd foem ave st ?

(a) < HicfEmen g% 9 38 TEed .

(b) Wt FUREEN FHd wH A AEH
ST .

(c) SRR SYSAET < S ITEE! Faeel I

(d) T@ TaewdE g gy s Sa @
TEUTATd.

Tt W

(1) (o) % (2) (b) FvT (d) Fh

(3) (a) % (4) (a) 3T () Hh

Which of the statements given below is/are correct ?
(a)
(b)

Taenia solium is called as Hookworm.

Fasciola hepatica is commonly known as liver
fluke.

Ancylostoma duodenale is
Tapeworm.

also called as

()
(d)
Answer Options :
(1) (c) only
(3) (a) Only

Nereis chilkaensis is commonly called as Ragworm.

(2) (b) and (d) Only
(4) (a)and (c) Only

T Tieft amed e

(1) ERTTEIT=AT HwhET (2) I Hargeh HT
(3) STAfCTohT=AT BT (4) Sfotem= =
Brunner's gland occurs in :

(1) Submucosa of duodenum

(2) Submucosa of stomach

(3) Mucosa of oesophagus

(4) Mucosa of ileum

(3) CH, , (4) IOAYH HIvaer ATE ™
» General formula of alkynes is ..........
(1) CH,,, (2) CH,,
(3) CH,, , (4) None of the above
75. SN @
(a) TsrafiaTge (i) CuCO3 Cu(OH),
(b) T (i) ALO, xH,0 78.
(c) Heldrse (iii) ZnCO,
(d) TIeEe (iv) Fe,0,
(v) FeO,
(vi) CuFeS,
(vi) Na,AlF,
(viii) ZnS
Re IW
@ ® ©O© M
() @Gy () (vi)  (viii)
2) (i) (@(v) () (viii)
(3) (i) (v) (@) (i) -
(4) (vi) (vi) (viii) ()
g Match the columns :
| 11
(a) Cryolite (i) CuCO3 Cu(OH),
(b) Magnetite (i) ALO,xH,O
(c) Malachite (iii) ZnCO,
(d) Sphalerite (iv) FeO,
(v) FeO,
(vi) CuFeS,
(vii) Na,AlF, 79.
(viii ZnS
Answer options :
@A ® © M -
1 G () (vi) (vii)
) (vii) (Gv) ()  (viii)
G) (i) (v) (@ (i)
4) (vii) (vi) (viii) (1)
76. SAEIAEI I ....... IH AT 80.
(1) WM. A a9med (2) e feem
(3) Swm defaw (4) TETHRIE
- 'The Discoverer of electron is :
(1) SirJ.J. Thon-on (2) Gold Stem
(3) James Chadwick (4) Rutherford
77. GG UEE FHaEE.
AT HrEedt wiviea A HIsge ged ? -
(a) UAA,UGA,UGC (b) UAG, CGA, AGC
(c) UGA,UAA,UAG (d) CGA,UAA, UGA
it S
(1) (a) 3T (b) (2) T (a)
(3) () (4) (@ 3 (o)
102 -

TAEIACAT  SRIRUTHES  TUIAT™ hivTd  T[UTeH
HeeaTel HfHeRt TR UTSdTd ?

(a) TG A (b) TG ST

(c) TUGHAET SRR (d) TR foreH
TR o Frem /e st s

(1) (a) o (2) (b) &

(3) (a), (b) T (c) F (4) (a), (b), (©), (d)
Which chromosomal characters play important role
in classification of plants ?

(a) Number of chromosomes

(b) Morphoiogy of chromosomes

(c) Size of chromosomes

(d) Aberrations in chromosomes

Which of the given above statement/s is/are correct?
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(1) (a)only (2) (b) only
(3) (a),(b)and (c)only (4) (a), (b), (c), (d)

81.

siemm) Ffed st wg W o,
(1) STE®RET (2) FHerwrer
(3) ISt (4) smesiisf

Which of the following plant groups has vascular
system, produces spores, but does not has seed ?
(1) Bryophyta (2) Pteridophyta

(3) Gymnosperms (4) Angiosperms

82.

‘A TARS ATH Uldel AEM 3iesEedl SATum=i

T T WAt IO BTl Aok T aEadt

TR 3R ?

(1) SRR s7hted (2) Ty wfidfis
ST HASIST (4) ISR

The plant disease Late Blight of Potato is caused by

which of the following organism ?

(1) Phytoplitlorn infestans (2) Pythium Species
(3) Albugo cnndidn (4) Colletotrichum

83.

A AW, TR WTeicidenl  hivtedn oA
AN FEEUTd 62 3TEaTd ?
(1) =efidefaa ged 2, Tddaa Ju9d 3
3 =R HaE 3.
(2) TheEe Hadl e, TSIgEd Hodl 3 9
AT R TG 2ieh.
(3) Tustiaefae adt <, TSIeae Jedt e 9
et wedt e
) "AAA HAG ek, THSEEE QI 9
R T I
In Mammals, structurally the sense organs take
which one of the following three basic forms ?
(1) Neuroepithelial receptors, Epithelial receptors and
Neuronal receptors
(2) Epithelial receptors, Endothelial receptors and
Neurological receptors
(3) Mesothelial receptors, Endothelial receptors and
Epithelial receptors
(4) Neuronal receptors, Epithelial receptors and

Cutaneous receptors

84.

103

m@%ﬁa@mﬁ w&aﬁmﬁqmwﬁv/

The infections which usually develop slowly and are
long-lasting are known as infections.

(1) Chronic (2) Acute

(3) Systemic (4) Latency

85.

3 T Yigh ATHeh HAG! dfreht U9t ... e 3M@esd Iard.
(1) hifecdAsn (HHEMET AT W)

(2) o=

(3) sTeIce=n

(4) SrATdA Ugal

Sensory nerve cells called Rods and Cones are found

(1) Cochlea (2) Dermis
(3) Epidermis (4) Retina of the eye

36.

TEATEAT HISUiiaeA HHRH Y @ Z <t fohea et

(1) 699 (2) 998 (3) 899 (4) 996
Find the value of Y and Z respectively after
identifying the rule in number arrangement.

(1) 6and9 (2) 9and8 (3) 8and9 (4) 9and 6

87.

g

THAHTAT IR 3Tt X @ Y @ G SHIehR gaea
THR 4. A gAEeien yg et migd s,
o X qEA1 SEihe T BF Y qEeA 39S 3T
X T ST TERfaEg el Teh U8 SE e Traet
TR, a0 HEwfieg selel 8 el fed) Traeh arme.
AT YBTIRT U Tiees 9 gl Sive Traed 3112,
Y A1 ST % T TER(%E I8 SIel el Trae
M. O TEWfo%g U8 TSN Th quihll T
ga fetelt o1mg. 3orehl wewfasg I8 SISt #it 9
el 3.

SRX < 9 g8 Y < e g8 aeren we wa
38d, X @ fae 9 v = dufrd g8 gr=aemr 3@
T X T e ITHER I Y el s
a1 et

(1) fafeaduor e (2) THR HIBT ATER Tl
(3) h Tl (4) Tafeaa o o

You are having 2 cubes X and Y in front of you

that are placed adjacent to each other. Study the
information about these cubes that is given below :
Cube X is on your left side and cube Y is on your right
side.

One of the opposite faces pair of cube X is painted red
Another pair of opposite faces is painted blue and one
of the remaining faces is painted yellow and other one
is violate.

Only one pair of opposite faces of cube Y is painted
blue. Another pair of opposite faces has brown and
green colour while remaining opposite pair has black
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and white colour.

If red face of cube X and blue face of Y are touching
table, yellow of X and brown of Y are facing you; then
select the colour of face of cube Y that is facing blue
side of cube X.

(1) Definitely black (2) Either black or white
(3) Only white (4) Cannot be determined

88.

T FgY 0T HId- YEiel S0t feft atrga. wamean
ST erelt 7 AL R, T ik 9 AUl e
A YER AT, Sk o W9d Fredn deean
R AR AR, AU AR, ek 0T Sk T U
e A NNl dleteen e, e e
(1) wifecdt a9 a8 (2) 63

(3) 56 (4) 42

Measurements of Lizard like animal are as follows.
Its head is 7 cm long. Its body length between the
head and the tail is equal to the head plus tail. The
tail length is equal to the head plus one half of the
body length between the head and the tail Select the
option that indicates total length of the lizard

(1) Information is insufficient

(2) 63

3) 56 4) 42

89.

Teeiean v WicTehtiel Yehel Ug i

6, 24, 72, 240, 726

(1) 24 2) 72 3) 240 4) 726
Identify the wrong term, in the given number series:
6,24, 72,240, 726

(1) 24 2) 72 3) 240 4) 726

90.

104

Ude e FeSiuEe are S e g
S

&, i, fow, Somn, fehan, e anfon
AT AT T1q AR GeArgd dmemTesdn 1 d VI
YIeehgd ¥ 3Tt @ A, B, C, D, E, F 30T G
T T e WMBETe! fieteh T fag whefl.
T ST etal 3hH 3THTE 38 3™ & 99a
v 3 FonEl gama et A 9idl waet. g
AT YA 114 Sdett 9o 31mest C feha D @ret Ara.
= gomed et B |idl Fielt 90 ¥t 1 A 113
et el bt gemed 99 VI 3 9T E 9rét
Hdett. 99 VI MTe3T F |1t Jarad eraet!, et
AT Y [ 3 Sdeft qu1 3Mes1 C |1t & 9 11
I AETE gArEd Sdel! e

U9 V 1 HIv gerEd et ?

(1) &0 (2) A& (3) dEHO (4) ATl
Study the following information carefully and
answer the question asked :

Seven candidates Hari, Samir, Nilesh, Shailaja Nikita,
Laxman and Sujata are interviewed for selection as
teacher by different panels I to VII for different schools
A,B,C,D, E, Fand G notnecessarily in the same order
of schools and panels. Nilesh is interviewed by panel
IV for school A. Samir is interviewed by panel 111 but
not for school C or D. Hari is interviewed for school B,
but not by panel I or II. Nikita is interviewed by panel
VI for School E. Panel VII conducts the interview for
school F. Shailaja is interviewed by panel I But not for
school C. Panel II does not interviewed Laxman.

Who was interviewed by Panel V ?

(1) Hari  (2) Shailaja (3) Laxman (4) Sujata

91.

A T IEUHRST B A1 ORI IIEHRS UL HEl A
3UTSY 3. ATeitet feren fdw p, Q @ R 3nfon 3R
foreren fg 1, 2 & 3 3@ et WAl AEA gAHHT
Tt Q W Sig ST, Ueht Tl Uges P, 19 3
AITieR GROTH gal. ST AR 1 98 A @ R AT
=g gl ShIUT 3 3ivgl U1 g A U o= vest anter
A ST S ARTER TRUTH o= Feien 31
Ul degl ATERIATS! IUCTeY TN/ A Heret,
(1) &% Q (2) &b P

(3) & 2 (4) R 3fT 2 Qe
There are six routes for reaching from town to hill
town (b) Three of these are indicated by P, Q and R
and other three are indicated by 1, 2, and 3. Route
Q is closed during stormy weather. Routes P, 1 and
3 are affected by flooding of one river. If route I is
closed route R gets closed automatically as both are
bifurcations of the single route from A after some
distance.

Select the route/s which is/are available for transport
when weather is stormy and causes flooding of the
rivers that affect the routes.

(1) Only Q (2) OnlyP

(3) Only2 (4) Rand 2 both

92.

g

mpaiﬂ?nqaﬁmuiizo 3R, qalT"\UTyiﬁFR'm'ﬁZS
MR, p, q Ty TN TG 23 3R, T p 3for y <t wred
femett st ?

(1) 24 (2) 19

(3) 29 (4) 25

If the average of p and q is 20, the average of q and
y is 25, the average of p, q and y is 23, then what is
the average of pand y ?
(1) 24

3) 29

2) 19
@) 25
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93.

gt ARl ST St A ?

7 . 1 2

1 6 4
(1) 45 (2) 48 (3) 46 4) 47
Which number will replace the question mark ?

7 . 1 2
1 6 4

(1) 45 (2) 48 (3) 46 4) 47

94.

Ui 39 TEamed W dEy o1, dre gay fad=n
JATTOT <o WA ST, usnedsw forgrean fewhmoft ==
i e,

86:29::98:...7

(1) 30 2) 32 3) 34 4) 36

The relation between third and fourth number is
same as it is in first two numbers. Select correct
option in place of question mark.

86:29::98:...7

(1) 30 2) 32 (3) 34 4) 36

9s.

105

Higael UfaH Ut g@Edi|d tgun=n fafvre s
A= soeht FeE womd fafay &9 greEa.
FUT-TS, AdB eI, BeRiv-we, sEa-fE,
fafre Toeen smeR-sfem. @ wiigder enenfa
et /g e fare.

i

\

Frepd

(a) HIE! SHI IR WIS Siedard 9o7 A i
SheTedT UTEal W1 Teha! Seh! arerd ATel.

(b) HTE Al Heh HaS I &St Serara.

(c) hHIEl TUST ST SAch! TSIt Sietard quT
AT el &t qeier serdra.

(d) qAY HE TS M F= H 9T SA=T
SITH! ITTRd T FIE SAh Feh TUST T
EIGIGH

IRl ST

(1) (a) Rra™ THE A& (2) (a) TTSAT T&

(3) (c) T Tl A (4) W (b) T (d)

Accompanying image shows different areas that

represent specific language speakers residing in one

colony. Arrow - Maratlii, Circle - Gujarati, Triangle
- Kannada Rectangle - Hindi, irregular -English.
Select false conclusion/s based on this information.
Conclusions :

\

(a) Some persons do speak four languages but no one
speaks all the five languages mentioned in the list.

(b) Some persons speak Kannada and Hindi only.

(c) Though some Marathi speaking persons do speak
Gujarati but some of these speak Hindi also.

(d) There are persons who speak Marathi and other
two languages but some persons speak Marathi
and Hindi only.

Answer options :

(1) None except (a) (2) All other than (a)

(3) None other than (¢) (4) Only (b) and (d)

96.

Trela ugmed ;o faegreen e anpen fieten
A Ugme i TEy 3R, d gaY STArhEd gF
UmEd AR, Usneieh ferrgrean feemolt o vata faer.
EF:15::KL: ...... ?

(1) 23 2) 36 (3) 46 (4) 66

There is some relationship between two terms at the
left of : : and same relationship holds between two
terms to the right. Find out the correct alternative,
in place of question mark.

EF:15::KL: ...... ?

(1) 23 2) 36 (3) 46 (4) 66

97.

Ufgesn gH ugmed Sl Ty 3R, e day faaen @
2T TS TR, IYATIETe AR ShiuTdt Tean Aga ?
122 : 170 : : 290 : 7

(1) 364 (2) 362 B 3) 323 (4) 324

The relation between third and fourth term is as it
is in first two terms. What Number should replace
the question mark ?

122:170::290: 2

(1) 364 (2) 362 (3) 323 (4) 324

98.

g

Tehl Wichideh WA VIDEO | VWREL g1 Hehd
Mg 3T CHAIR &St RZSXI B Wehd 3. W
BOARD g ITe8 T Hichideh WISt ShT fo1gTet ?
(1) YLZIW

(2) IZLYW

(3) WIZLY

(4) (1), (2), (3) =T oA T,
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» In a certain code language, if VIDEO is coded as
VWREL and CHAIR is coded as RZSXI then how
will BORD be coded in that code language ?

(1) YLZIW (2) 1ZLYW

(3) WIZLY (4) None of (1), (2), (3)

99. el faemmier foem ==
(a) & GIR 12 q ¥, 4 IowRId TSR, TeaR

3T Tferam A feaeht =l Suerey .
(b) fo=ht TEM o1 T & WHAR, TEER, AR
3T feamdt 9. 10 @ g. 2 Il = 3.

(c) Tafd Wt SE0 S A F. 9 9 . 12 I
AITER, FUER 0T Tear a1 feasft sfor g, 2
d H. 4 91 9d PHAR, AHER T Feoam an
feaeft =l Suetey 3.

fot afgolt wivren feenft @ Rt awm v =@

FHATAd?

(1) TEaR- g. 12 a1.9 eard g. 12 4.

(2) TEEAR- g. 12 a1.9 Yeard g. 2 @

(3) TEAR- 3. 2 1. F M@l §. 2 4.

(4) TEEAR- g. 2 91, 9 M@l g. 12 =

» Consider the following statements :

(a) Kunda is available at home during 12 noon to 4
pm on Tuesday, Thursday and Sunday.

(b) Her younger sister Naina is available at home on
Monday, Thursday, Friday and Sunday during 10
am to 2 pm.

(c) The eldest sister Jyoti is available at home during
9 am to 12 noon on Monday, Wednesday and
Thursday and 2 pm to 4 pm on Friday, Saturday
and Sunday.

On which day and at what time, all the three sisters

are available at home ?

(1) Thursday - 12 noon and Sunday - 12 noon

(2) Thursday - 12 noon and Sunday - 2 pm

(3) Thursday - 2 pm and Sunday - 2 pm

(4) Thursday - 2 pm and Sunday - 12 noon

D)
106

100. 7 foeert sHetean T FgaTel it IR ;

A,B,C,D,E 3T F g 98 9 gH SIedl 31 Jcdieh
e a3, Forep, 3, 3R, U% 9 T A fafsre
HoaTl foRIv TEed <al. Tshal J6Y TeE ISR a1 9%
forory wEa wea AT ¢, St E = g7 o1, foen sem
gafd Sed 3Eed. B, S D =1 Afartad e 31,
q1 foep T v5a *al. F2 A 3 Ja9g 3R, Al
o= U= Siew g e 3Te ST F a1 &3
JFEd ATElL A & A SR oy gEa s
g T faam faer.

faem:

(a) D T oIy weia st ST ar 31 = ger el
(b) E & FifTedquer geamn oy gee 3.

(c) C 7 gerft gk Taeht 3172,

it S

(1) (a) Gt & (2) (a) &S THE T
(3) @F () T (4) (a) F (b) &=
Study following information about the joint family
comprised of three generations.

A, B, C, D, E and F are members with two married
couples and each member prefers distinct fruit amongst
banana, chiku, pineapple, figs, guava and orange. None
of the male member prefers either figs or guava C, who
is daughter in law of E, enjoys pineapple most. B, who
is unmarried son of D, prefers chiku. F is a grandchild
of , adopted by 2™ generation couple and F does not
like orange. Person A prefers figs and has a spouse who
prefers banana.

Select statements from following set which are not true
with respect to this information.

Statements :

(a) D prefers orange and is not a son of .

(b) E is definitely a male member of the family.

(¢) C has adopted a girl.
Answer options :

(1) All but (a)

(3) Both (a) and (¢)

(2) None but (a)
(4) Both (a) and (b)

g
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